

Name:

Klasse:

Datum:

Aufgabe 1. $(3 + 5) + 3^2 + 7 - (-5 - 4) + (8 * 8) =$

Aufgabe 8. $(6 * 5) - (3 - 9) + 3 - (-8 + 5) : (5 - 6) =$

Aufgabe 2. $(8 + 4) + 8 - 3 * (-4 + 2) * (8 * 9) =$

Aufgabe 9. $(7 * 5) - (3 - 2) + 3 + (-4 * 6) + (8 + 7) =$

Aufgabe 3. $(3 * 6) * 3^3 - 3 * (6 + 7) + (7 * 6) =$

Aufgabe 10. $(8 * 7) * (7 - 3) + 7 * (7 - 7) - (2 + 7) =$

Aufgabe 4. $(3 + 2) * 3 - 2 - (2 - 5) * (4 - 8) =$

Aufgabe 11. $(3 * 8) + (3 - 7) + 3^2 + (-3 + 4) * (3 + 9) =$

Aufgabe 5. $(3 * 6) * 3 * 9 + (6 + 2) + (3 - 5) =$

Aufgabe 12. $(9 + 9) * (5 * 2) + 5^2 * (2 * 5) - (9 - 3) =$

Aufgabe 6. $(2 - 9)^2 * 2 + 2 - (-9 * 7) + (8 + 3) =$

Aufgabe 13. $(3 - 9) + (8 - 2) + 8^2 - (-8 + 3) - (8 + 8) =$

Aufgabe 7. $(3 - 3) - 3 - 6 * (-3 - 4) + (2 + 7) =$

Aufgabe 14. $(2 * 7) * (2 * 8) - 2^2 + (3 * 2) * (6 * 8) =$

Aufgabe 15. $(7 - 4)^2 - 9 - (-9 + 9) + (9 * 5) =$

Aufgabe 22. $(8^3 - 4) + 8^2 + (-9 + 2) - (4 + 7) =$

Aufgabe 16. $(7 * 2)^2 * 2 + (2 - 2) * (7 - 3) =$

Aufgabe 23. $(6 * 9) - 6 + (-3 + 4) + (8 - 4) =$

Aufgabe 17. $(2 + 2) * 5^3 - (5 + 5^3) * (2 - 4) =$

Aufgabe 24. $(6^3 * 4) - 6^3 + (-9 - 9) + (7 * 2) =$

Aufgabe 18. $(4 - 9) * 3 + (3 * 3^3) - (6 - 5) =$

Aufgabe 25. $(6^2 + 5) + 6^3 - (-6 - 5) + (3 * 4) =$

Aufgabe 19. $(4 + 3)^3 + 5 - (5 - 5^3) + (4 * 4) =$

Aufgabe 26. $(3^3 - 4) + 3^2 - (-8 - 3) + (2 * 8) =$

Aufgabe 20. $(4 - 2)^2 * 7^2 - (-7 * 7) + (9 - 2) =$

Aufgabe 27. $(6^3 + 7) + 6 - (-2 - 3) * (8 - 9) =$

Aufgabe 21. $(9 + 8)^2 - 2 - (2 - 2^3) * (8 - 2) =$

Aufgabe 28. $(8 - 8) + 8^3 - (4 * 6) - (8 - 3) =$

Lösungen:

Aufgabe 1: 97
Aufgabe 2: 452
Aufgabe 3: 489
Aufgabe 4: 1
Aufgabe 5: 492
Aufgabe 6: 174
Aufgabe 7: 48
Aufgabe 8: 36
Aufgabe 9: 28
Aufgabe 10: 215
Aufgabe 11: 41
Aufgabe 12: 424
Aufgabe 13: 53
Aufgabe 14: 508
Aufgabe 15: 45
Aufgabe 16: 392
Aufgabe 17: 760
Aufgabe 18: 65
Aufgabe 19: 484
Aufgabe 20: 252
Aufgabe 21: 323
Aufgabe 22: 554
Aufgabe 23: 53
Aufgabe 24: 644
Aufgabe 25: 280
Aufgabe 26: 59
Aufgabe 27: 224
Aufgabe 28: 483